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Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

1. Fill in the blanks by choosing correct answer given in the brack-
ets. (all) [1%x12
QAR FRIEA GUAIREQ! A0R, AR AR @8 IAIYIR JAE AR |
(201g)

(a) The Environmental Protection Act was enacted in tye year
. (1986 /1992)

af6ed 9as 2R cidelca gaae 6oIRaml |
(ROro/ eECY)

(b) is the principal source of market failure.
(Private goods / Monopoly)

_QRIa STRIQ g8 g 26T
(Q6Q1Q @M | IRRIFIR)

P.T.O.
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(c) Tragedy of Commons was propounded by
(V. Pareto / Santa Barbara)

ARAIQE SR RO R |
(. YERES | €I8 Qeal)

(d) is otherwise known as Pigouvian taxes.
(Emission taxes / Sales tax)

Q. deaIfEle @ F1l QLIAIRAM |
(QA9R @9/ A9 QQ)

(e) NAPCC was launched in the year . (2005/2008)

NAPCC CIdQER AR QUSRI |
(9008 / 900l)

(f) Uncertainties occur due to uncertainties in
(Market Management/ Price)

I abtaly 20860 diel 98 ceIRelN |
(AR AR | Q)

(@) PVisequalto , ( ZYt J/[ Yt }
(1-r) (1+1r)'
|(2Yt ]/(EY’(]
(1-r) (‘l+r)t

(h) Wild Life Protection Act was enacted in the year
(1972/1927)

)
D)
I
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QNG oSl AR AR gore caaem |
(RC99/0C99)

0 is example of renewable resource.
(Solar / Coal)

ARG ANRR AAVAE 26T |
(QEAQE | ERIRR)

(j) The sum of marginal cost of extraction and user cost is known
as . (Total Cost / Augmented Cost)

QERINEQ AIFS CANS 8 NRVRR JANAQ ANEQ,
| QRIAN|
(6516 ARUL | QRQE TGRYe)

(k) The Pigouvian fees is a special kind of
(Emission fee / College fee)

dafeia Gag e 967 gaIa QAN |
(PFIAQ 69% | FEAR 6Q%)

() Indian Forest Act was implemented in the year
(1981 /1927)

NG QY SIFAE cidelsa AIiRIaT cRiRaMl |
(eq¢re/ec99)

P.T.O.
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GROUP - B

2 Answer any eight of the following questions within two to three

sentences each. [2x8
ca6@ad S gga QA 9604R] QR Sl HERIT ARIER gRIR Fa|

(a) Whatis externality 7
QYOI @6l ?

(b) What is water pollution ?
@n d9ge @l ?

(c) What is Photosynthesis ?
TeIdeQAY @6l ?

(d) Whatis Market failure ?
AR TR Rl ?

(e) What is climate change ?
PRI CRNRe RE?

(f)  Write full form of IPCC.
2AIR.3.9.9.9 AHAUQE emel |

(g) Whatis User Value ?

AP AN @1 ?
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(h) Give an example of exhaustible resources.
AR AARIGRRN ALRE 6N |
(i) What is Backstop ?
QRId] @€l ?
(j‘) W_hat is Soil Erosion ?
IRl AT Q41 ?

'GROUP -C

Answer any eight of the following questions within 75 words each.

626163 G gYa AQQ JERIRg 985 I8 FRIER dale @l
| [3x8

(a) What is sustainable development ?
NG RIS @41 ?
(b) Write a short note on Publib Health Isgue.
ASARIRS QIYY IO QUEH NS TTY TQQE! gaie Qa|
(c) Whatis negative externality ? -
QSR QY| @6l 7
(d) Explain fhe option value.
308 QOe gnY QU e | L

P.T.O.
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(e) Whatis Hedonic Price Theory ?

6260I7%, QQ 6] T 7

(f) What are the features of displacement due to industries ?
Jeloaqiel gIEe RIS Qdl?

(g) "Give examples of natural resources.
gge dnRa Qqlead @l

(h) Explain thermodynamics.
gedieineifiad Qe @

(i) Explain maximum social advantage. .
AR ARG QARSI IS [

() What is ecosystem ? |

RERIdAC Q412

(k) What are biotic components ?
QISR AUNRYER @817 -

GROUP - D

4. Answer any four of the following questions within 500 words each.
666 ¥ G d9IQ QR EURQ 800G df FRIER IR aal

(@) Explain how environmental economics and economics aré
correlated ? [7
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ARERA AL 6 ARG FOR 90 AWEE Mg O |
(b) Analyse the Direct Controls to check Negative externality. [7
QEIAR QIRYeI gFe FFEe oI FoadgFe S64ed @9
(c) Suggest the remedies for climatic change. | [7
FRAIG, 4R RIAR 8l F6s Adig AR 7

(d) Explain different issues associated with sustainable deve-
lopment. , [7

egie SQI9 A2 AP AMIGHS QUL G|

(e) Distinguish between public goods and private goods. How
they differ in valuation and pricing ? [7

AEARINE 24 6 AEAIR 2 FrIGR ARy @diel | GRUIBR @
AQ FFOGER 627I6R FUR ARIA0IG ele adiRl]

(f) Explain the Coase theorem with its assumption and short-
comings. . 7 -

eRIY YR AR G AERE AL NI R |
(g) Describe the user value of environment. ‘[7

RERER MIRLIRR TNy FeEEs Fa |
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